
TRX KP BACK PLATE INSTALLATION 
 

1. Plug the Red and Black cable from the battery into the charger board. 
2. Unclip the keypad back, this can be done easily with a flat blade screwdriver. 
3. Align the keypad back with the TRX KP Back Plate, make sure the charging input is at the bottom 

and the word TOP is at the top. 
4. Screw in the 3 x M4 machine screws into the Back Plate. 
5. Plug the White and Black cable from the charger board into the keypad. This should make the key-

pad power up. 
6. Clip the keypad front onto the back by aligning the top first, then squeezing the bottom corners. 
7. The Keypad can now be fitted to suit. 
8. Follow the TRX Keypad programming instructions. 
9. Upon finishing installation the Keypad should be plugged in and charged overnight. 
 
Charging: 
1. Plug the supplied power pack into the charging input on the TRX KP Back Plate. 
2. Plug the power pack into a mains outlet and turn it on. A Green light on the power pack should come 

on. 
3. Look at the back of the keypad, after 10-60 seconds a Red light should come on. This means the 

battery is charging.   
4. When the Red light turns off the battery is 100% charged and the power pack can be turned off and 

unplugged.  
Notes: 
  If the Red light does not come on this may be because the battery is already fully charged. 
  Charging can be done at anytime, you don’t have to wait for the keypad to display a battery low signal.  
  From flat the keypad should be fully charged within 24 hours. 
  Use only the supplied 5.5VDC 500mA power pack. 
  For indoor use only. 
  

A
R

RO
W

H
EA

D
 A

LA
RM

 P
RO

D
U

C
TS

 L
td

. 
Ph

. 0
9 

41
4 

00
85

 
Fa

x.
 0

9 
41

4 
00

88
 

w
w

w
.a

ap
.c

o.
nz

 
v1

.0
 M4x10 M4x10 

M4x10 

SCALE 1 : 1 

TOP 


